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KB KUK T A= T HE  BE 20 200 m
KA KUK T A= 7 HE BE 40 1| m
AN RUMAT A= 7 HiE e 50 14] m
AN RUMET A= 7 HiE  BEEE 65 76 m
BRI IR FS 10KF 80 2| @
LI 10KF 125 5| fA
LI 10KF 150 3| A
TR pE 10KF 200 8l &
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FRARVE (1F) PR FEE N GWHBEIERRA 125 4 m
FRARVE (1F) B s FEE N GWHBEIERRAT 150 2[ m
PN LS IR S B EZH GWHf 15 14 m
PN LS IR ES PR EBEH GWHIRAT 20 2| m
PN LS IR ES PR E B GWHIRAT 40 1| m
PN LS IR ES B EZH GWHAT 50 11] m
He K PRI AR B EZH GWHiAT 65 36 m
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Fa K E RIS Bl ek GWHBEKIRAR 50 3]l _m
Fa K E RIS Bl ek GW+BEKIBRAR 65 41f m
(2) B
(BRI AL
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(X INED
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(R AL
ARIIK 2RI = B A8 R AN bR 32 38 m
AERIIK 2RI = B A8 e R AENE PR 50 19] m
(4) 45 7K 3R fii
(R AL
KA KUBRTA= ) SHE B 25 13] m
KA KUBMRTA= ) HE BERE 40 15| m
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(2) #a M B i
(R AL
ARIIK 2RI = Fo g R g () b 32 30 m
AR IIK 2RI = B g R g (BB - 50 37 m
ERIIK LRI = B g R g (BB 65 28 m
AERIIK 2RI = B g R g (BR) 2042 32 2 m
AERIIRER e B A% R A (BR) 2022 50 8 m
Ferih B B8 R A (BR) 2022 65 2 m
Vazi €=}
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(3) HeK B M
(R AL
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